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1. Consider the following statements related to PM-
SVANidhi scheme.
1. This scheme is launched by the Ministry of

Housing & urban affairs
2. It aims to provide grants to fulfil the nutritional

demands of women and children in the
country.

Which of the above statements is /are incorrect ?
[a] 2 only [b] 1 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
 Prime Minister street vendor’s Atma nirbhar

nidhi
 The scheme intends to facilitate collateral free

working loans  up to 10,000/ for one-year
tenure

 This scheme is launched by the Ministry of
Housing & urban affairs

 The PM- SVANidhi scheme is available to all
street vendors who are engaged in vending in
urban areas as on or before March 24, 2020. 

2. As per the revised MSME classicification of 2020,
a Medium term enterprise is one which has-
[a] Investment greater than INR 20 crore and less

than 30 crore
[b] Investment should not exceed Rs.50 crore and

turnover should be less than Rs.250 crore.
[c] Turnover greater than INR 20 crore and less

than 50 crore
[d] Turnover greater than INR 30 crore and less

than 100 crore.
Sol. [B]

MSME 
Clasification  

Investment  Turnover  

Micro  Maximum 
limit 1 Crore  

Less than 
5 Crore   

Small Maximum 
limit 10 Crore 

Less than 
50 Crore 

Medium Maximum 
limit 50 Crore 

Less than 
250 Crore 

 
3. Minimum support price for agriculture crops in

India is fixed by-
[a] NABARD
[b] Cabinet committee on Economic affairs
[c] Commission for Agriculture Costs and

Prices
[d] Food corporation of India

Sol. [B]
The MSP for agriculture crops in India is fixed by
cabinet committee on economic affairs on the
recommendations of the commission for
Agriculture costs and Prices.

1.

1.

2.

[a] 2 [b] 1
[c] 1 2 [d] 1 2

Sol. [A]

10 000

24 2020

2. 2020 

[a] 20 30 
[b] 50 

250 
[c] 20 50 

[d] 30 100 

Sol. [B]

MSME    
(Micro)  1 

 
5 

 
(Small) 10 

 
50 

 
(Medium) 50 

 
250 

 
 3.

[a]
[b]
[c]
[d]

Sol. [B]
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4. Consider the following statements about Na-
tional food security act 2013-
1. 75% of the rural population and upto 50% of

the urban population has been covered under
it.

2. The central procures food grains from farmers
at a minimum support price and sell it to states
at central issue prices.

Choose the correct statements-
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [C]
5. Which deficit is an indicator of the exact

indebtedness position of government under
current fiscal operations and an important policy
parameter to save the country from falling into
debt trap ?
[a] Budgetary deficit [b] Revenue deficit
[c] Primary deficit [d] Fiscal deficit

Sol. [C]
Primary Deficit - It is the difference between fiscal
deficit and interest payments. It shows how much
debt is required by the government to meet other
functions other than interest payment. Therefore,
primary deficit is considered as an important
policy parameter.

6. FAME India scheme is related to -
[a] Agriculture subsidy to farmers
[b] Subsidy to new innovatine projects
[c] Subsidy to electric vehicles
[d] Subsidy to Textile Industry

Sol. [C]
FAME - Faster Adoption and manufacturing of
Hybrid and Electric vehicle (FAME  II)
Budget - 10,000 Cr.
This scheme was launched to achieve the goals of
National electric mobility mission plan (NEMMP)
Phase I - 2015 to 2019
Phase II - 2019 to 2022
The subsidy will now be 15,000 per kwh for elec-
tric two wheelers under FAME India phase-II.

7. Consider the following statements regarding
HDI report 2021-22.
1. India's rank in the HDI has improved in 2021

as compared to 2020.
2. India's HDI value in this report is 0.633.
Which of the above statements are incorrect?
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [A]
India's rank on the HDI has slipped from 130 in
2020 to 132 in 2021. India's HDI value in this re-
port is 0.633.

4. 2013

1. 75% 50%

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [C]
5.

[a] [b]
[c] [d]

Sol. [C]

6. FAME 
[a]
[b]
[c]
[d]

Sol. [C]

(FAME  II)
10 000

(NEMMP)

2015 2019
2019 2022

15 000
7. 2021 22

1. 2020 2021

2. 0 633

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [A]
2020 130 2021

132 0
633



Page No. {4}

8. Fiscal Responsibility and Budget Management
(FRBM) Act provides for escape clause on which
of the following grounds?
1. National security
2. Collapse of agricultural output
3. Dispute with trading partners
4. National calamity
Select the correct answer using the code given
below.
[a] 2 and 3 only [b] 1, 2 and 4 only
[c] 1 and 4 only [d] 1, 2, 3 and 4

Sol. [B]
Fiscal Responsibility and Budget Management
(FRBM) became an Act in 2003.
The subsection 4 (2) of the Act says about various
grounds on which the FRBM’s fiscal deficit target
may be exempted during a year-
National security, act of war
National calamity
Collapse of agriculture severely affecting farm
output and incomes
Structural reforms in the economy with
unanticipated fiscal implications
Decline in real output growth of a quarter by at
least three per cent points below its average of the
previous four quarters.

9. Consider the following statements about World
happiness report 2023 -
1. It is released by UN sustainable development

solutions network.
2. This report is released annually.
3. Afghanistan was ranked as the unhappiest

nation.
Choose the correct statement-

[a] Only 1 and 2 [b] Only 2 and 3
[c] Only 1 and 3 [d] All of the above

Sol. [D]

Since 2012,  the world happiness report has been
released annually around march 20th as part of
the International Day of happiness celebration.

10. Consider the following statements:
1. The Repo rate is the rate at which other banks

borrow from the Central Bank of a Country.
2. A value of 1 for Gini coefficient in a country

implies that there is perfectly equality is
income distribution.

Which among the above is/are correct?“
[a] 2 only [b] 1 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
A value of 1 for Gini coefficient in a country implies
that there is perfectly inequality in income
distribution.

8.

1.
2.
3.
4.

[a] 2 3 [b] 1 2 4
[c] 1 4 [d] 1 2 3 4

Sol. [B]
2003

4 2

9 2023

1.

2.
3.

[a] 1 2 [b] 2 3
[c] 1 3 [d]

Sol. [D]
2012

20
10.

1.

2. 1 

[a] 2 [b] 1
[c] 1 2 [d] 1 2

Sol. [B]
1 
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11. Which of the following is not a cause of demand
pull inflation?
[a] Population growth
[b] Increase in black money
[c] Increase in fiscal deficit
[d] Increase in interest rates

Sol. [D]
Following are the causes of demand pull inflation-
increase in public expenditure
increase in fiscal deficit
population growth
increase in amount of black money
increase in fiscal deficit
Increase in interest rates is the cause of cost-push
inflation.

12. Consider the following statements regarding
types of inflation-
1. The Rate of inflation of galloping inflation is

more than hyper inflation.
2. Creeping inflation is generally seen in devel-

oped country.
Choose the correct statements-

[a] Only 1 [b] Only 2

[c] Both 1 and 2 [d] None of the above
Sol. [B]

Creeping inflation -
When the rise in prices is very low.
This type of inflation in generally related with de-
veloped countries.

Price   

Time    

Running / Galloping inflation :
When the rate of inflation reaches double digits
(>10%) it is called Running/Galloping inflation.
Runway / Hypesinflation
When the rate of inflation is extremely high, it is
called runway/hyperinflation. In this situation,
money becomes worthless and new currency may
have to be introduced.

11.

[a]

[b]

[c]

[d]

Sol. [D]

12.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [B]

        

Price   

Time    

(>10%)
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13. With reference to the GDP deflator, consider the
following statements-
1. It is the ratio of nominal GDP to the real GDP.
2. It indicates the change in prices of commodi-

ties from the base year to current year.
Which of the above statements are incor-
rect?
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]

GDP Deflator = 
min

100
Re

No al GDP

al GDP


It is the ratio of the value of goods ans services
produced by an economy in a given year at current
prices (Nominal GDP) to the value of goods and
services produced during the base year( Real GDP).

14. 1. At present the current base year of Wholesale
Price Index, Gross Domestic Product (GDP)
and Index of Industrial Production (IIP) is
2011-12.

2. The Wholesale Price Index currently covers
597 items.

Choose the incorrect statement-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [B]
The Wholesale Price Index currently consists of
697 articles.
Primary Articles-117,Fuel & Energy-16,
Manufactured Products-564

15. Consider the following statements-
1. The weightage of food items in consumer price

Index (CPI) is higher than wholesale price In-
dex (WPI).

2. The WPI does not capture changes in the prices
of services which CPI does.

3. The Reserve Bank of India has now adopted
WPI as its key measure of inflation measure-
ment.

Choose the correct statements -
[a] Only 1 and 2 [b] 2 only
[c] 3 only [d] 1, 2 and 3

Sol. [A]
RBI has now adopted WPI as the principal mea-
sure of inflation as it covers both goods and ser-
vices.

16. According to Economic survey in 2023-24, India’s
GDP is expected to grow from ______to____.
[a] 6.2 to 6.5 [b] 6.0 to 6.8
[c] 6.5 to 6.8 [d] 6.8 to 7.2

Sol. [B]

13.

1.

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [D]

GDP
Nominal GDP

100

14. 1.
(GDP) (IIP)

2011-12 
2. 597 

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [B]
697 

117, 16 564
15.

1.

2. WPI 
CPI

3.
WPI

[a] 1 2 [b] 2
[c] 3 [d] 1 2 3

Sol. [A]
RBI WPI

16. 2023-24 GDP
______ ______

[a] 6.2 6.5 [b] 6.0 6.8
[c] 6.5 6.8 [d] 6.8 7.2

Sol. [B]
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17. National multidimensional poverty Index is
relased by -
[a] National sample survey organisation (NSSO)

[b] NITI Ayog
[c] World bank and NSSO
[d] The ministry of health and family welfare

Sol. [B]
Recently NITI Ayog has released the Report Na-
tional multidimensional poverty Index.
The report has been prepared based on the latest
national family health survey-5 (2019-21) and
multidimensional poverty Index (MPI)
The first edition of MPI was released in 2021.

18. Absolute poverty is a condition characterized by
severe deprivation of basic human needs. Which
of the following basic human needs can be in-
cluded in it?
1. Sanitation Facilities2.Health
3. Shelter 4.Information
5. Safe drinking water
[a] 1, 2, 3, 5 only [b] 1, 2, 5 only
[c] 1, 3, 5 only [d] All of the above

Sol. [D]
According to united nations world summit for
Economic development, absolute poverty is a con-
dition characterized by severe deprivation of basic
human needs, including food, safe drinking wa-
ter, sanitation facilities, health, shelter, education
and information.

19. Periodic labour force survey is released by-
[a] NITI Ayog
[b] National sample survey organisation (NSSO)
[c] NSO (National statistical office)
[d] NITI Ayog and NSSO

Sol. [C]
The national staistical office (NSO), ministry of
staistics & Programme implementation launched
the periodic labour force survey (PLFS).

20. Disguised unemployment generally means -
[a] Large number of unemployed people
[b] Alternative employment is not available
[c] Marginal productivity of labour is Zero.
[d] Productivity of worker is low.

Sol. [C]
An economy demonstrates disguised unemploy-
ment when productivity is low and too many work-
ers are filling too few jobs.

17.

[a] (NSSO)
[b]
[c]
[d]

Sol. [B]

5
2019 21

MPI 2021
18

1. 2.
3. 4.
5.
[a] 1 2 3 5 [b] 1 2 5
[c] 1 3 5 [d]

Sol. [D]

19

[a]
[b] (NSSO)
[c]
[d]

Sol. [C]

20
[a]
[b]
[c]
[d]

Sol. [C]
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Marginal productivity refers to the additional out-
put that is gained by addition of one unit of labour.
Since in disguised unemployment more number of
labour than required are already engaged in the
work, the marginal productivity of labour is zero.

21. Consider the following statements about NPCI
(National Payments corporation of India)-
1. It is an initiative of RBI and Indian Bank Asso-

ciation (IBA) under the provisions of the Pay-
ment and Settlement System Act, 2007.

2. Indigenously developed payment system
'Rupay' is an initiative of NPCI.

Choose the correct statement from the above-

[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [C]

Other initiatives of NPCI-
IMPS (Immediate payment service), National au-
tomated clearing house (NACH), Aadhar Payment
Bridge (APB),united payment interface (UPI),
Bharat Bill payment system etc.

22. Under Basel-III norms banks are supposed to
maintain their capital to risk weighted assets ra-
tio (CRAR) at-

[a] 8% or above [b] 8% or below
[c] 11% or above [d] 11% or below

Sol. [A]

Capital  adequacy ratio (CAR) is the ratio of banks
capital in relation to its risk weighted assets and
current liabilities.
The basel III norms stipulated a capital to risk
weighted assets of  8%. However, as per RBI norms,
Indian scheduled commercial banks are required
to maintain a CAR of 9%.

23. Consider the following statements regarding pri-
ority sector lending-
1. Foreign banks with the less than 20 branches

have no targets for priority sector lending.
2. MSME credit and export credit are included

under the priority sector lending.
Choose the incorrect statement-

[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [A]

Categories of priority sector :-
1. Agriculture 2. MSME
3. Export credit 4. Education
5. Housing
6. Social infrastructure
7. Renewable Energy

21.

1. 2007 

2.

[a] 1 [b] 2
[c]1 2 [d]

Sol. [C]
NPCI 
IMPS

NACH APB
UPI

22. III
CRAR

[a] 8% [b] 8%
[c] 11% [d] 11%

Sol. [A]

III 8%
RBI

9% CAR 

23.

1. 20

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [A]

1. 2.
3. 4.
5. 6.
7.
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If the foreign bank has less than 20 branches, then
it is also mandatory to give minimum 40% of the
net loan to the priority sector.

24. Consider the following statements with refer-
ence to legal tender -
1. Cheques drawn on savings or current accounts

are not legal tenders.
2. Currency notes and coins are fiat money.
Choose the correct statements -
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [C]
Cheques drawn on savings or current accounts can
be refused by anyone as a mode of payment.
Fait money also called fait currency is a form of
currency that is recognised as legal tender by the
government but has no inherent value.

25. Finacial regulation and supervision of RRB's (Re-
gional Rural Bank) is done by -
[a] RBI [b] NABARD
[c] State government [d] Both a and b

Sol. [D]
RRB were set up under the Regional Rural Banks
Act, 1976.
The funtion of financial regulation over RRBS is
exercised by Reserve Bank and the Supervisory
powers have been vested with NABARD.
The equity of the RRBS.
Central government : State Government : Sponser
Bank :: 50 : 15 : 35

26. Consider the following -
1. Disinvestment
2. Reducing expenditures
3. Raising tax rates
4. Rationalisation of subsidies
Which of the actions mentioned above if adopted
by government would reduce its deficit?
[a] 1 and 4 only [b] 1, 2 and 4 only
[c] 1, 2, 3 and 4 [d] 2 and 3 only

Sol. [C]
In addition to the above, the government can re-
duce its deficit by the following-
1. Direct Benefit Transfer
2. To reduce the operational expenditure of the

government.
3. Adoption of Public-Private Partnership model.
4. Adoption of budget related reforms like zero

base budget etc.
27. Consider the following statements with respect

to RBI-
1. It was established on 1 April 1935.
2. Originally it was privately owned.

 20 
40% 

24.

1.

2.

[a] 1 [b] 2
[c]1 2 [d]

Sol. [C]

25. RRB's

[a] [b]
[c] [d] a b

Sol. [D]
1976

50 15 35
26.

1.
2.
3.
4.

[a] 1 4 [b] 1 2 4
[c]1 2 3 4 [d] 2 3

Sol. [C]

1.
2.
3.
4.

27.
1. 1 1935
2.
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Choose the correct statements -
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [C]
The RBI was established on April 1, 1935 in accor-
dance with the provisions of the Reserve Bank of
India Act, 1934.
Though originally privately owned, since
nationalisation in 1949, the reserve bank is fully
owned by the government of India.

28. Monetary policy committee is constituted by -
[a] Central government
[b] RBI
[c] RBI with the consultation of central govern-

ment
[d] Central government with the consultation of

RBI.
Sol. [A]

Section 45 ZB of the amended RBI Act, 1934 has a
provision to constitute an empowered six member
MPC by the central government by notification in
the Gazette.

29. Consider the following statements about Mon-
etary Policy Committee (MPC)-
1. The MPC determines the policy repo rate re-

quired to achieve the inflation target.
2. The MPC is required to meet at least four times

in a year.
3. The quorum for the meeting of the MPC is four

members.
Choose the incorrect statement -
[a] Only 1 [b] Only 2
[c] Only 3 [d] None of the above

Sol. [D]
Monetary Policy Committee: At least 1 meeting
mandatorty per quarter
Total members : 6
Quorum : 4 members

30. The LAF corridor has_____.
[a] MSF rate as its upper bound (Ceiling) and the

SDF rate as the lower bound (floor)
[b] SDF rate as its upper bound (Ceiling) and the,

MSF rate as the lower bound (floor)
[c] Repo rate as its upper bound (Ceiling) and the,

SDF rate as the lower bound (floor)
[d] MSF rate as its upper bound (Ceiling) and the,

Repo rate as the lower bound (floor)
Sol. [A]

Liquidity Adjustment Facility (LAF) : It is a tool
used by RBI to control liquidity in market.
Upper Limit : Marginal Standing Facility (MSF)
Lower Limit : Standing Deposit Facility (SDF)

[a] 1 [b] 2
[c]1 2 [d]

Sol. [C]
RBI 1 1935

1934
1949

28

[a]
[b]
[c]
[d]

Sol. [A]
1934 45 ZB 

29

1.

2.

3.

[a] 1 [b] 2
[c] 3 [d]

Sol. [D]

6
4 

30 LAF 
[a]

[b]

[c]

[d]

Sol. [A]
LAF

RBI 
MSF

(SDF)
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31. Which of the following can be categorised as high
powered money?
1. Currency and coins held by the public.
2. Deposits held by commercial banks with RBI.
3. Deposits held by the government of India with

RBI.
4. Vault cash of commercial bank.
Choose the correct statements -
[a] 1 and 2 only [b] 2 and 3 only
[c] 3 and 4 only [d] 1, 2, 3 and 4

Sol. [D]
The total liability of the monetary authority of the
country, RBI  is called the monetary base or high
powered money.
It consists of currency (Notes and coins in circula-
tion with the public and vault cash of commercial
banks) and deposits held by the government of In-
dia and commercial banks with RBI.
Vault Cash: Cash kept on hand in a depository
institution's vault to meet day to day business needs.

32. Consider the following statements with regards
to zero base budgeting-
1. It is a method of budgeting in which all ex-

penses must be justified for each new period
starting from a zero base.

2. Unspent money allocated to a particular min-
istry is allowed to be carried forward in next
financial year.

Choose the correct statement-
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [A]
Under the traditional budget system unspent
money allocated of any ministry or department is
allowed to be carried forward.
In ZBB, this unspent money would not be allotted
forward to those who did not spend.

33. With reference to the Indian  economy, consider
the following statements-
1. A share of the household financial savings goes

towards government borrowings.
2. Dated securities issued at market related rates

in auctions form a large component of Internal
debt.

Which of the above staements are correct?
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of the above

Sol. [C]
A share of household financial savings goes to
government borrowings, as part of public account
of India. It mainly consists of provident fund.
Dated Government securities or bonds which are

31.

1.
2.
3.
4.

[a] 1 2 [b] 2 3
[c] 3 4 [d] 1 2 3 4

Sol. [D]

32.

1.

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [A]

33.

1.

2.

[a] 1 [b] 2
[c]1 2 [d]

Sol. [C]

5
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long term (5 years to 30 years).
Dated securities issued at market-related rates
comprise a large share of internal debt.

34. Consider the following statements about  GST
Council-
1. It is constituted by President
2. Its decision are taken by 2/3rd majority.
3. Article 279A is related to GST council.
Choose the correct statements-
[a] 1 and 3 only [b] 2 and 3 only
[c] 1 and 2 only [d] All of the above

Sol. [A]

GST Council  

Article  279A  

Formed by president   

Chairman 
Union Finance 
Minister     

Members- 
Ministers 
Nominated by 
the  state 
government      

Centre have 
1/3rd voting 
power and 
the states 
have 2/3rd       

The decision 
are taken by 
3/4th majority      

35. Which of the following taxes are not subsumed/
replaced in GST ?
1. Customs duty
2. Special Additional customs duty
3. Excise duty on production/Manufacturing of

goods
4. Excise duty on Tobacco products
[a] Only 1 and 4 [b] Only 1, 3 and 4
[c] Only 1 and 2 [d] All of the above

Sol. [B]
36. Consider the following statement in context of

GDP-
1. In India GDP is calculated by National Statis-

tics office (NSO).
2. The value of Gross Value Added (GVA) is al-

ways higher than the value of GDP.
Choose the correct statements-
[a] Only 1 [b] Only 2
[c] Only 1 and 2 [d] None of the above

Sol. [A]
GDP in India is calculated by NSO. It works under
the Ministry of Statistics and Program Implemen-
tation.
Base Year - 2011-12
GDP = GVA + Taxes – Subsidies

30

34.

1.
2. 2 3
3. 279A

[a] 1 3 [b] 2 3
[c] 1 2 [d]

Sol. [A]

GST   

 279A  

35.

1.
2.
3.
4.
[a] 1 4 [b] 1 3 4
[c] 1 2 [d]

Sol. [B]
36.

1.

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [A]

2011 12
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If the amount of tax is more than subsidy then the
value of GDP will be more than GVA, if the amount
of subsidy is more than tax then the value of GVA
will be more than GDP.

37. 1. India is the third largest economy in the world
in terms of purchasing power parity (PPP).

2. India's nominal GDP is more than its GDP in
terms of purchasing power parity (PPP)

Choose the incorrect statements -
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [B]
India is the world's fifth largest economy by nomi-
nal GDP and the third largest by purchasing power
parity.
India's GDP in terms of PPP is more than its nomi-
nal GDP.

38. While calculating the GDP by expenditure
method, which of the following factors are taken
into account?
1. Final household consumption expenditure
2. Expenditure on intermediate goods
3. Final capital expenditure
4. Government expenditure on unemployment

allowance
Select the correct answer using the code given
below -
[a] 1 and 4 only [b] 1, 3 and 4 only
[c] 1 and 3 only [d] 2, 3 and 4 only

Sol. [C]
Consumption [C] - Personal consumption made
by house holds
Investment expenditure (I) - Final investment
inludes investment on capital goods and not on
intermediate goods.
Government expenditure (G) - It is the sum of gov-
ernment expenditure on final goods and services.
This includes the salaries of public servants, the
purchase of weapons for the military, and any in-
vestment expenditure by the government.
This does not include any transfer payments, such
as Social Security or unemployment benefits.
(X-M) = Net exports
GDP = C + I + G + (X - M)

39. Consider the following statments about e-commerce-
1. The FDI policy in India classifies the e-com-

merce sector into two groups that is market
place model and inventory models

2. 100% FDI is allowed in B2B e-commerce
Choose the correct statements -
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

37. 1.

2.

[a] 1 [b] 2
[c]1 2 [d]

Sol. [B]

38

1.
2.
3.
4.

[a] 1 4 [b] 1 3 4
[c] 1 3 [d] 2 3 4

Sol. [C]
C

I

G

(X-M)
GDP = C + I + G + (X - M)

39
1.

2. B2B 100% FDI

[a] 1 [b] 2
[c]1 2 [d]

Sol. [C]



Page No. {14}

Sol. [C]
The FDI policy in India classifies the e-commerce
sector into two groups. These are -
1. Marketplace mode

      |
Ex. Naaptol and shopclues etc.
2. Inventory mode

     |
Ex. Myntra

40. Any person sell his laptop on OLX using which
medium of E-commerce?
[a] B2B [b] B2C
[c] C2C [d] None of the above

Sol. [C]
The medium of e-commerce used by a person sell-
ing a laptop on OLX is C2C (Consumer to Con-
sumer ) e- commerce.

41. Before issuing an IPO by a company, a survey is
done in the market by the company to determine
the installments of shares, it is called -
[a] Book Building [b] Underwriting
[c] Right Issue [d] None of these

Sol. [A]
Right Issue - When the company becomes old then
some new shares can be issued by it, it is called
Right Issue.
These shares are issued only to the existing share
holders.
Underwriting - Under this, when a company
issues its IPO, then it gets the IPO underwritten
from a financial institution.
The financial institution assures the public that
the business model of the company is profitable
and all the shares of the company will be
subscribed.
If this does not happen then the financial
institution will buy the remaining shares.

42. Match the following-
Goals SDG

A. Life expectancy at of birth 1.    3
B. Expected year of schooling 2.    4
C. Gross national income per 3.    8

capita
A B C A B C

[a] 1 2 3 [b] 3 2 1
[c] 2 1 3 [d] 1 3 2

Sol. [A]
43. With reference to money markets, consider the

following statements-
1. Call money refers to borrowing/lending of

funds on overnight basis.
2. Notice money refers to borrowing/lending of

funds for a period exceeding 14 days.

1.
 |

Ex.
2.

 |
Ex. Myntra

40
OLX

[a] B2B [b] B2C
[c] C2C [d]

Sol. [C]

C2C

41. IPO 

[a] Book Building [b] Underwriting
[c] Right Issue [d]

Sol. [A]
Right Issue - 

Right Issue 

Underwriting - IPO
IPO 

Underwriting 

Subscribe 

42

A. 1.   3
B. 2.    4
C. 3.   8

A B C A B C
[a] 1 2 3 [b] 3 2 1
[c] 2 1 3 [d] 1 3 2

Sol. [A]
43.

1.

2. 14
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Select the incorrect statements-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
If the loan is given for a period of 2 to 14 days then
it is called notice money.

44. Assertion A : Devaluation of currency can promote
exports.
Reason R : Devaluation may reduce the value of
domestic products in the international market.
[a] Both A and R are correct and R is the correct

explanation of A.
[b] Both A and R are correct but R is not the correct

explanation of A.
[c] A is correct but R is incorrect.
[d] A is incorrect but R is correct.

Sol. [A]
45. Match List-I with List-II and select the correct

answer using the codes given below the Lists, -
(List-I) (List-II)

A. Boom 1. High level of business activity,
with increasing income,
production, and employment on
a large scale

B.Slowdown 2. Gradual decline in income,
output, and employment with
slow business activity

C. Recession 3. Underemployment, and
unprecedented level of
unemployment with Sharp
decline in income and production

D. Reform 4. Steady growth in the general level
of prices,income, production and
employment

Code:
A B C D A B C D

[a] 1 2 3 4 [b] 1 2 4 3
[c] 2 1 4 3 [d] 2 1 3 4

Sol. [A]
46. The most appropriate measure of economic

growth of a country is its
[a] Gross Domestic Product
[b] Net Domestic Product
[c] Net National Product
[d] Per Capita Real Income

Sol. [D]
47. Which of the following statements is correct?

Fiscal Responsibility and Budget Management
Act (FRBMA)
[a] Deals with Fiscal Deficit only.
[b] Deals with revenue deficit only.
[c] Deals with both fiscal deficit and revenue

deficit.
[d] Neither relates to fiscal deficit nor revenue

deficit.
Sol. [C]

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [B]
2 14 

44. A : 
R : 

[a] A R A R 
[b] A R A R 
[c] A R 
[d] A R 

Sol. [A]
45. I II 

-I II
A. 1.

B. 2.

C. 3.

D. 4.

A B C D A B C D
[a] 1 2 3 4 [b] 1 2 4 3
[c] 2 1 4 3 [d] 2 1 3 4

Sol. [A]
46.

[a]
[b]
[c]
[d]

Sol. [D]
47.

(FRBMA)-
[a] (Fiscal Deficit)
[b] (Revenue Deficit)
[c]
[d]

Sol. [C]



Page No. {16}

Under FRBM Act-2003, fiscal deficit should be 3%
by 2008-09 and revenue deficit should be zero.

48. When the Reserve Bank of India announces an
increase in the Cash Reserve Ratio, what does it
mean?
[a] Commercial banks will have less money to lend
[b] The Reserve Bank of India will have less money

to lend.
[c] The central government will have less money

to lend.
[d] Commercial banks will have more money to

lend.
Sol. [A]
49. A sharp increase in the inflation rate is

sometimes attributed to the “base effect”. What
is this “base effect”?
[a] It is the effect of acute shortage in supply due

to crop failure.
[b] It is the effect of rapidly increasing demand

due to rapid economic growth.
[c] It is the impact of the previous year’s prices on

the inflation rate calculation of current year.
[d] None of the statements a, b and c above is

correct in this context.
Sol. [C]

Price inflation is affected by the prices of the
previous year. If there was an increase in the prices
in the previous year, then the inflation in the
current year will be less. If there was a reduction
in prices in the previous year, the inflation in the
current year would be higher. This is called base
effect.

50. Which of the following is not a cause of Structural
or Bottleneck Inflation-
[a] Inadequate infrastructure like lack of

proper roads and electricity.
[b] Fluctuation due to seasonal and cyclical
reasons like failure of monsoon.
[c] Changing consumption patterns of large

fraction of population.
[d] Cartelization practice adopted by some of

the traders.
Sol. [C]
51. Which of the following connects all the ATMs in

India?
[a] Indian Banks Society
[b] National Securities Depository Limited (NSDL)
[c] National Payments Corporation of

India(NPCI)
[d] Reserve Bank of India

Sol. [C]
National Payments Corporation of India is an
umbrella organization connecting all the ATM of
India. It is a joint venture of the Reserve Bank of
India and the Indian Banks' Association.

FRBM Act-2003 2008-09 
3% 

48.

[a]
[b]

[c]
[d]

Sol. [A]
49.

[a]

[b]

[c]

[d] a, b c 

Sol. [C]

50.

[a]
[b]

[c]
[d]

Sol. [C]
51. ATM 

[a]
[b]

[c]

[d]
Sol. [C]

ATM 
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52.

[a] [b]
[c] [d]

Sol. [B]

53.

[a] [b]
[c]
[d]

Sol. [A]
54.

1. 2.
3.
4.

[a] 1-2-3-4 [b] 3-1-2-4
[c] 1-4-3-2 [d] 3-2-1-4

Sol. [A]

55.
5.35 

80,000 

[a]
[b]
[c]
[d]

Sol. [B]

5.35 

56. 2.0 

[a]
[b]
[c]
[d]

52. Which of the following is not included in the
assets of a commercial bank in India?
[a] Advance [b] Deposit
[c] Investment [d] Call money

Sol. [B]
Deposits of commercial banks are their liability,
hence it is not included in the assets of the banks.

53. Which one of the following does not affect the
Credit creation ability of commercial banks?
[a] Capital Adequacy Ratio
[b] Cash Reserve Ratio
[c] Statutory Liquidity Ratio
[d] Cash Deposit Ratio

Sol. [A]
54. Arrange the following steps in Passing the Budget

in order-
1. Presentation of Budget
2. General Discussion
3. Scrutiny by Departmental Committees
4. Voting on demands for grants, cut motions,

guillotine etc.
Select the correct code-
[a] 1-2-3-4 [b] 3-1-2-4
[c] 1-4-3-2 [d] 3-2-1-4

Sol. [A]
To pass the budget, first presentation of the budget,
general discussion, scrutiny by departmental
committees, voting on demands for grants, cut
proposals, guillotine etc.

55. Which is a new umbrella-programme for
highways sector that envisages construction of
over 80,000 km of roads, highways, greenfield
expressways, bridges with an investment of
about 5.35 lakh crore?
[a] Sagarmala Project
[b] Bharatmala Pariyojana
[c] Dedicated Freight Corridor
[d] Multimodal Logistics Park

Sol. [B]
The Bharatmala project was started by the
Ministry of Road Transport and Highways for
the development of transport infrastructure. Its
budget has been kept at Rs 5.35 lakh crore. Under
this, economic corridors, inter-corridors and
feeder roads, improvement in national corridor
efficiency, border and international connectivity
roads, roads for coastal and port connectivity,
greenfield expressways will be constructed.

56. Recently Production Linked Incentive Scheme 2.0 has
been started for the first time in which area?
[a] IT Hardware Manufacturing
[b] Food processing
[c] Drone manufacturing
[d] EV car production
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Sol. [A]
17 2023

(PLI) 2.0
29 2023

57.
A :

B :

[a] A [b] B 
[c] A B [d]

Sol. [B]

(CPI-IW)
2016

58. 2023 24

[a]
[b]
[c]
[d]

Sol. [A]
2023 24

1. 79 590
2. 60 000
3. 60 000
4. 13625

59.

[a] [b]
[c]
[d]

Sol. [C]
GST 

GST 
60.

1. 2021-22 
2.
3. 51% 

[a] 1, 2 3 [b] 2 3 
[c] 1 3 [d] 1 2 

Sol. [A]
The Union Cabinet on May 17, 2023 approved
the launch of Production Linked Incentive (PSI)
Scheme 2.0 for IT hardware to enhance India's
manufacturing capabilities and exports. The
scheme was notified on May 29, 2023.

57. Consider the following statements:
A : The Consumer Price Index-Industrial worker

is compiled and disseminated annually by the
Labor Bureau.

B : This index number is used for regulating
dearness allowance paid to the Central and
State Government employees.

Choose the correct option:
[a] Only A is correct
[b] Only B is correct
[c] Both A and B is correct
[d] None is correct

Sol. [B]
The Consumer Price Index-Industrial Workers
(CPI-IW) is compiled and disseminated monthly
by the labor bureaus annually. Its base year is 2016.

58. Which of the following schemes has highest
finance allocation in budget 2023-24 ?
[a] Pradhan Mantri Awas Yojana
[b] PM-Kisan
[c] MGNREGS
[d] Pradhan Mantri Fasal Bima Yojana

Sol. [A]
Expenditure on major scheme in budget 2023-24
1. 79,590 Cr.-Pradhan Mantri Awas Yojana
2. 60,000 Cr. - PM-Kisan
3. 60,000 Cr. - MGNREGS
4. 13625 Cr.-Pradhan Mantri Fasal Bima Yojana

59. Central Tax which has not been included in GST is
[a] Central Excise Duty
[b] Service Tax
[c] Export Duty
[d] Cess and surcharge imputed by centre

Sol. [C]
Since GST is a destination based tax, the goods
or services to be exported are to be consumed
outside India. Hence export tax is not included
in GST.

60. Choose the correct statements from the following
statements regarding National Asset
Reconstruction Company Limited.
1. It was announced in the budget 2021-22.
2. It has been constituted on the recommendation

of Sunil Mehta Committee.
3. Public sector banks will have 51% stake in

this.
Choose the correct option:
[a] 1, 2 and 3 [b] 2 and 3
[c] 1 and 3 are correct.
[d] 1 and 2 are correct.
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Sol. [A]

2021-22 
51%  

49%

61.

[a] = C2 

[b] > C2 

[c] < A2 + FL

[d] < A2

Sol. [B]

62.

[a] 2000 [b] 1996 

[c] 1969 [d] 1991 

Sol. [B]

1996 
5, 10, 20, 50, 100, 500, 1000 

63.

1.

2.

/

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [A]

GDP 

64 2023

1. 146 136

2.

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [A]

Sol. [A]
National Asset Reconstruction Company Limited
was announced in the budget 2021-22 on the rec-
ommendation of the Sunil Mehta Committee. The
share of public sector banks will be 51% and share
of public financial institutions will be 49%.

61. Which statement is correct regarding the
minimum support price?
[a] Minimum Support Price = C2 cost
[b] Minimum Support Price > C2 costs
[c] Minimum Support Price < A2 + FL
[d] Minimum Support Price < A2

Sol. [B]
62. Currency notes of Mahatma Gandhi series were

introduced in India -
[a] In year 2000 [b] In year 1996
[c] In year 1969 [d] In year 1991

Sol. [B]
The Mahatma Gandhi series currency notes were
issued in the year 1996. Notes of 5, 10, 20, 50, 100,
500, 1000 rupees were issued. The then governor
of the Reserve Bank was C. Rangarajan.

63. Consider the following statements :
1. Rate of growth of GDP exhibits the

performance of the Economy.
2. Per capita Domestic income shows the

standard of living of the people in a country.
Which of the statements given above is/are
correct?
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
The estimation of national income is necessary for
the measurement of economic activities but it is not a
real indicator of human development or the standard
of living of the country.
It is not necessary that increase in the level of GDP is
welfare for every person. Because due to non-equal
distribution of resources, every person does not get
the benefit of economic prosperity.

64. Consider the following statements about World
Happiness Report 2023-
1. India Ranks at 136th position out of 146 coun-

tries.
2. In this report, Finland has been given the sta-

tus of the happiest country.
Choose the incorrect statement-

[a] Only 1 [b] Only 2

[c] Both 1 and 2 [d] None of the above

Sol. [A]
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2023 136 126

65.

1. 2.
3. 4.
[a] 1, 3 4 [b]  2 4
[c] 1 3 [d]

Sol. [A]

NSO 
IIP 407 

66.
[a]

[b]
[c]
[d]

Sol. [A]
[a] 

(NNPFC) 
67.

[a]
[b]
[c]
[d]

Sol. [C]
2010 

NBFC

68.
[a]
[b]

[c]
[d]

Sol. [A]

100
/



In 2023 India Ranks at 126th position out of the 136
countries, making it one of the least happy countries
in the world.
In 2022 India ranked 136th position out of 146 coun-
tries.

65. The activities to be included in the Indian
Industrial Index are-
1. Manufacturing 2. Construction
3. Mining 4. Electricity
[a] 1, 3 and 4 only [b] 2 and 4 only
[c] 1 and 3 only [d] All of the above

Sol. [A]
The Index of Industrial Production gives information
about the status of production in the industrial sector
in a particular period. It is released by NSO every
month.
IIP is measured on the basis of output of 407 items of
manufacturing, mining and power sector, in which
manufacturing sector has the highest weightage.

66. NNP at factor cost is equal to :
[a] Net National ProductMP - Indirect taxes +

subsidies
[b] Net National ProductFC - Net Indirect taxes
[c] Net National ProductFC + Net direct taxes
[d] Net National ProductMP + Indirect taxes

Sol. [A]
Option [a] is correct, National Income is defined as
Net National Product at Factor Cost (NNPFC).

67. Y.H. Malegam Committee is concerned with:
[a] Regional Rural Banks
[b] Rural Cooperative Sector
[c] Micro finance Institutions
[d] Self help groups

Sol. [C]
Y.H. The Malegam Committee was formed in the
year 2010. The committee gave its recommendations
regarding improvement in micro finance institutions
and NBFC institutions.

68. Unemployment Rate is defined as
[a] The number of persons unemployed as a

proportion of labour force
[b] The number of persons unemployed as a

proportion of the working age population
[c] The ratio of persons unemployed to those

employed
[d] Both (The number of persons unemployed as

a proportion of labour force) and (The number
of persons unemployed as a proportion of the
working age population)

Sol. [A]
A person who is willing to work at the prevailing
wage rate but does not get work is called
unemployed.

Number of Unemployed person 
Unemployment Rate = ×100

Total Labour Force
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69.

[a] [b]
[c] [d]

Sol. [D]

70.
[a] [b]
[c]
[d]

Sol. [C]

a, b, d 

71.
[a]
[b]
[c]
[d]

Sol. [A]
GDP 

GDP 
(Real

GDP) 
72. CRR 

[a]
[b]
[c]
[d]

Sol. [A]
CRR /

RBI CRR

73.

[a] [b] LPG
[c] [d]

Sol. [C]
2023-24 

197350 
175099 

LPG + 2257 

69. Which of the following is not included in the
computation of National Income?
[a] Dividend
[b] Income from direct tax
[c] Royalty
[d] Interest on National Debt

Sol. [D]
Interest payments on national debts or public loans
are not included in the calculation of national in-
come because this interest is the liability of the
government.

70. Which of the following is not a cause of cost-push
inflation?
[a] Increase in Wages
[b] Increase in Import Duty
[c] Increase in Susidy
[d] Increase in prices of Crude Oil

Sol. [C]
Cost-push inflation occurs due to increase in the
cost of production and supply of goods and ser-
vices. Apart from options a, b, d, increase in trans-
port cost, increase in indirect taxes etc. are the main
reasons for this.

71. In real GDP calculation, we use-
[a] Constant prices
[b] Current prices
[c] Ratio of Constant and Current prices
[d] All of the above

Sol. [A]
When GDP is calculated at base year prices, it is
called GDP at constant prices. In this the effect of
inflation is removed. This is called Real GDP.

72. The effect of increased CRR will be reduced or
nullified, if-
[a] Bank rate is reduced
[b] Securities are sold in the open market
[c] Increase in Statutory Liquidity Ratio
[d] People do not borrow from non-banking

institutions
Sol. [A]

Under CRR, all banks have to keep some percentage
of their net deposits/net liabilities in cash with the
RBI. An increase in the CRR rate leads to a decrease in
monetary liquidity. If the bank rate decreases, mon-
etary liquidity increases.

73. Highest share of subsidies given by Central
Government is given for
[a] Fertilizers           [b] Petrol, Diesel and LPG
[c] Food security     [d] Education and Health

Sol. [C]
According to the expenditure estimates of the
budget 2023-24-
Food subsidy - Rs 197350 crore,
Fertilizer subsidy - Rs 175099,
LPG + Kerosene subsidy - Rs 2257 crore.
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74.

1.
2.
3.
[a] 1 [b] 2
[c] 3 [d]

Sol. [D]

1.
2.
3.
4.

75 (eNAM)

1 (APMC))

2

3

[a] 1 2 3 [b] 1 2
[c] 3 [d] 1 3

Sol. [D]
 14 2016

(APMC)




(SFAC)

76
1
2
3

[a] 1 [b] 1 2
[c] 2 [d] 2 3

Sol. [A]


74. The areas included in the strategic disinvestment
sectors of the Government of India are-
1. Atomic Energy, Space and Energy
2. Transport and Telecom
3. Banking, insurance and financial services
[a] 1 only [b] 2 only
[c] 3 only [d] All of the above

Sol. [D]
Four areas have been included in the strategic
disinvestment of the Government of India-
1. Atomic Energy, Space and Energy
2. Transport and Telecom
3. Banking, insurance and financial services
4. Electricity, petroleum, coal and other minerals

75. Consider the following statements regarding
National Agriculture Market (eNAM)
programme-
1. It is a digital platfrom of Agricultural Produce

Market Committees (APMC) mandis.
2. It is being implemented by National Bank for

Agriculture and Rural Development
3. It provides a nationwide platform for the sale

of agricultural products.
Select the correct statement/s-
[a] 1, 2 and 3 [b] 1 and 2
[c] 3 only [d] 1 and 3

Sol. [D]
 It was launched on 14th April 2016 as a pan-

India electronic trade
portal linking Agricultural Produce Market
Committees (APMCs) across the States.

 To promote uniformity in agriculture
marketing by streamlining of procedures
across the integrated markets.

 Small Farmers Agribusiness Consortium
(SFAC) is its lead agency under the aegis of
Ministry of Agriculture and Farmers’ Welfare,
Government of India.

76. Consider the following statements-
1. India is the largest producer of milk in the

world.
2. India is the largest consumer of milk in the

world.
3. India is the largest exporter of milk in the

world.
Select the correct statement/s-
[a] 1 only [b] 1 and 2
[c] 2 only [d] 2 and 3

Sol. [A]
 According to economic survey 2022-23 India

is the largest producer of milk in the world
and is the third largest producer of eggs and
eight largest producer of meat. India is the
second largest consumer of milk after USA as
per may 2023.
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77 (PMKSY)

1 1 2015

2

3
(NSC)

[a] 1 2 [b] 2
[c] 3 [d]

Sol. [D]
 1 2015






)

78

[a]
[b]
[c]
[d]

Sol. [B]


100


 (NUE)

79
1 1948

2

3 LPG

77. Consider the following statements regarding PM-
Krishi Sinchayee yojana (PMKSY)-
1. It was launched on 1st July, 2015 with the

motto of “Har Khet Ko Paani”.
2. Through this scheme, Micro irrigation is also

incentivized through subsidy to ensure “Per
drop-More crop”.

3. Under it inter-Ministerial National Steering
Committee (NSC) constituted under the
Chairmanship of Prime Minister .

Select the correct statement/s-
[a] 1 and 2 [b] 2 only
[c] 3 only [d] All of the above

Sol. [D]
 Launched on 1st July, 2015 with the motto of

“Har Khet Ko Paani”, this scheme is being
implemented to expand cultivated area with
assured irrigation, reduce wastage of water and
improve water use efficiency. 

 It also focusses on creating protective
irrigation by harnessing rain water at micro
level through “Jal Sanchay” and “Jal
Sinchan”.

 Micro irrigation is also incentivized through
subsidy to ensure “Per drop-More crop”.

 It is being coordinated and monitored by an
inter-ministerial National Steering Committee
(NSC).

78. Which of the following is not an advantage of
Neem Coated Urea-
[a] Enhancing the yield of various crops.
[b] Decreases the Nitrogen Use Efficiency.
[c] Reduces the cases of diseases like Blue baby

syndrome
[d] Decreases solubility and fertilizer run-off from

agriculture land.
Sol. [B]

 Government of India has mandated Indian
urea producers to compulsorily produce 100%
neem coated urea. 

 Neem coating leads to more gradual release
of urea, helping plants gain more nutrient and
resulting in higher yields.

 Nitrogen use efficiency (NUE) is a term that is
used to describe the efficiency of a plant in
using applied or fixed nitrogen for biomass
production. Neem coating reduces the rate of
nitrogen fixation hence increases the Nitrogen
use efficiency.

79. Consider the following statements-
1. 1st Industrial policy was declared in 1948 and

presented by Dr. Shyama Prasad Mukherjee.
2. In 2nd industrial policy, Industries were

divided in four categories.
3. LPG reforms were done in the third industrial

policy.
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[a] 1 2 3 [b] 1 2
[c] 1 [d] 1 3

Sol. [D]
 1948

1948



3

 1991

47 51

80

1. 2022

2. 2019

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [D]


2022 23


 MSME 

81

[a] [b]
[c] [d]

Sol. [B]


82

[a]

Select the correct statement/s-
[a] 1, 2 and 3 [b] 1 and 2
[c] 1 only [d] 1 and 3

Sol. [D]
 The first industrial policy after independence

was announced in 1948 which was presented
in April 1948 by Dr. Syama Prasad Murjee,
the then Union Minister for Industries.

 The 2nd was regarded as the ”Economic
Constitution of India” or “The Bible of State
Capitalism” based on Nehru-Mahalanobis
model. Under it the industries were divided
into 3 categories.

 The liberalised 3RD industrial policy was
announced by the Government in 1991 in the
midst of severe economic instability in the
country. In 47 high priority industries, upto
51% FDI was allowed.

80. Which of the following statements regarding
RAMP scheme is incorrect-
1. It is a World Bank supported Central Sector

Scheme launched in 2022.
2. ‘Expert Committee on Micro, Small and Medium

Enterprises’ under the Chairmanship of Shri U K
Sinha in 2019 recommended this scheme first.

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
 It is a World bank assisted Central Sector

Scheme, announced in Union Budget 2022-
23 for supporting various Covid Resilience
and Recovery Interventions of the MSME
Ministry.

 It is in line with the recommendations made
by U K Sinha Committee, KV Kamath and PM
Advisory Council.

 The overall monitoring and policy overview
of RAMP would be done by an apex National
MSME Council, headed by the Minister for
MSME, including representation from various
Ministries and supported by a secretariat.

81. To which country does India export the most
after America?
[a] China
[b] United Arab Emirates
[c] United kingdom
[d] Japan

Sol. [B]
 India exports the most to the United Arab

Emirates after the United States.
82. Which of the following statements is incorrect

regarding MSME sector?
[a] New MSME definition is different for

manufacturing and service sector based on
capital investment and turnover.
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[b]

[c]

[d] 110
22 23

Sol. [B]

MSME    
(Micro)  1 

 
5 

 
(Small) 10 

 
50 

 
(Medium) 50 

 
250 

 
 




83 2022 
[a] 8.4 % [b] 9.1%
[c] 10% [d] 6%

Sol. [A]
2022 

8.4% 
84 [ONDC]

1
(DPIIT)

2

3

[a] 1 2 3 [b] 1 3
[c] 1 2 [d] 1

Sol. [C]
 )


2020 14

[b] Mudra bank is a public sector financial
institution established under RBI.

[c] India’s MSME sector suffers with 'Missing
Middle syndrome'.

[d] MSMEs provide about 110 million jobs which
is 22-23% of the total employment in India. 

Sol. [B]

MSME 
Clasification  

Investment  Turnover  

Micro  Maximum 
limit 1 Crore  

Less than 
5 Crore   

Small Maximum 
limit 10 Crore 

Less than 
50 Crore 

Medium Maximum 
limit 50 Crore 

Less than 
250 Crore 

 
 Missing Middle Syndrome- There is an

increase in number of micro and small
enterprises but they are not able to convert
themselves in Medium enterprises as their
growth is limited.

 Mudra finance institute functions under Small
Industries Development Bank SIDBI not RBI.

83. What has been the growth rate of service sector
in India in FY 2022?
[a] 8.4 % [b] 9.1%
[c] 10% [d] 6%

Sol. [A]
According to the Economic Review, the growth
rate of the service sector in India in the financial
year 2022 has been 8.4%.

84. Consider the following statements regarding
Open Network for Digital Commerce [ONDC]-
1. It is an e-commerce platform established by

the Department for Promotion of Industry and
Internal Trade (DPIIT) to enable buyers and
sellers.

2. India has the 3rd largest online shopper base
globally.

3. Under this, the entire buying process of the
consumer is controlled during online
shopping.

Select the correct statement/s-
[a] 1, 2 and 3 [b] 1 and 3
[c] 1 and 2 [d] 1 only

Sol. [C]
* Open Network for Digital Commerce (ONDC)

is a company under DPIIT, Ministry of Com-
merce and Internal Trade, which aims to trans-
form the e-commerce market in India by shift-
ing from platform-centric model to open-net-
work model.

* India has the third largest online consumer
base globally, with 140 million e-retail consum-
ers in 2020, behind China and the USA.
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

85.
1.

2. 2020

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [A]


2020

86

1

2 11

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [D]

87.
[a]

[b]

[c]

[d]

Sol. [B]

5 2 00 000

* ONDC is like a big network which connects
all the different e-commerce platforms together.
So instead of being restricted to a specific plat-
form, you can buy products from different plat-
forms even if you are registered on only one of
them. Hence it breaks the monopoly of tech
giants like Amazon and Flipkart to control the
entire buyer's buying journey.

85. Consider the following statements regarding the
“Gig Economy”:
1. It is a free market system which is outside the

traditional relationship of employer-employee.
2. Gig Economy workers are not included in

social security code, 2020.
Select the correct statement/s:
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
 In keeping with the National Commission on

Labour’s recommendation to consolidate central
labour laws, the Ministry of Labour and Employment
introduced the Code on Social Security 2020. Gig
economy workers were included in this code.

86. Consider the following statements regarding PM
Gati Shakti scheme-
1. It is a National Master Plan for multi-modal

connectivity plan, with the aim of coordinated
planning and execution of infrastructure
projects to bring down logistics costs.

2. It also includes 11 industrial corridors and
two new defense corridors, one in Tamil Nadu
and the other in Uttar Pradesh.

Select the incorrect statement/s-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
Both statements are correct.

87. The objective of Swarnima scheme is :
[a] To provide opportunities to NET-JRF qualified

candidates to M.Phil/Ph.D. Degrees in
Humanities and Social Sciences.

[b] A term loan scheme for backward class women
entrepreneurs to obtain a loan to provid them
social & financial security.

[c] To improve educational scenario among
Scheduled Tribes people.

[d] To provide affordable housing to economically
weaker sections and low-income groups of the
society.

Ans : (B)
 Objective : A term loan scheme for women

entrepreneurs (backward class) to obtain a
loan of up to ¹ 2,00,000/- @ 5% per annum
providing them social & financial security.
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[a]
[b] 18 55
[c]
[d] 3

88.
(NSAP)

1. (IGNOAPS)
2. (IGNWPS)
3. (IGNDPS)

[a] 1 2 [b] 2 3
[c] 1 3 [d]

Sol. [D]
(1995

a) (IGNOAPS)
b) (IGNWPS)
c)

d)
e)

89.

1.
2.

3. 21

[a] 2 [b] 3
[c] 1 [d] 1 2

Sol. [A]

18
90. (PMUY)

[a]
[b]

 Ministry : Ministry of social justice and
empowerment

 Eligibility :
[a] The applicant must be female
[b] Age – between 18-55 years
[c] The applicant must be Entrepreneur
[d] The Total Annual Family Income of the

Applicant must be Less than ¹  3 Lakh per
Annum

88. Which of the following scheme is not the
component of the National Social  Assistance
Programme (NSAP)?
1. Indira Gandhi National Old Age Pension

Scheme (IGNOAPS)
2. Indira Gandhi National Widow Pension

Scheme (IGNWPS)
3. Indira Gandhi National Disability Pension

Scheme (IGNDPS)
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] None of the above

Sol. [D]
The NSAP (Started from 1995) at present includes
five sub-schemes as its components -
a) Indira Gandhi National Old Age Pension

Scheme (IGNOAPS)
b) Indira Gandhi National Widow Pension

Scheme (IGNWPS)
c) Indira Gandhi National Disability Pension

Scheme (IGNDPS)
d) National Family Benefit Scheme (NFBS)
e) Annapurna Scheme

89. With reference to Stand Up India Scheme, which
of the following statement is/are correct?
1. Implemented by - Ministry of Skill

Development and Entrepreneurship
2. Objective -  To facilitating bank loans for

setting up a greenfield project enterprise in
manufacturing, services, trading sector etc.

3. Age -The age of the applicant must be at least
21 years.

Code:
[a] 2 only [b] 3 only
[c] 1 only [d] 1 and 2 only

Sol. [A]
 A scheme by Ministry of Finance for financing SC/

ST and/or Women .
If the applicant is male , he must be from SC / ST
category

 Objective -  To facilitating bank loans for setting up a
greenfield project enterprise in manufacturing
services, trading sector etc.

 Age- The age of the applicant must be at least 18 years.
90. The Pradhan Mantri Ujjawala Yojana (PMUY) is

related to which ministry :
[a] Ministry of Finance
[b] Ministry of commerce and industry
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[c] Ministry of Petroleum and Natural Gas
[d] Ministry of Home Affairs

Sol. [C]
 Ministry : Ministry of Petroleum and Natural

Gas (MOPNG)
 Objective : To make clean cooking fuel such as

LPG available to the rural and deprived
households

 Eligibility : The Applicant must have attained
18 years of age.

91. With reference to Indira Gandhi National Widow
Pension Scheme, which  of the following
statement is/are correct?
1. The scheme is implemented by Ministry

Women and Child Development.
2. It is a non-contributory pension scheme to

provide social security to widows of poor
family (BPL)  of the society.

Code:
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
 Ministry: Ministry of Rural Developmemt
 Objective : It is a non-contributory pension

scheme to provide social security to widows
of poor family (BPL)  of the society.

 Eligibility :  A pension of Rs.300/- per month
is provided to Widows between 40 years and
79 years. For widows who are 80 years and
above the pension is Rs.500/- per month.

 Pension will be discontinued
(i) once the widow moves above poverty line.
(ii) In case of remarriage of widow

92. Which of the following statements are incorrect
related to Deen Dayal Upadhyaya Grameen
Kaushalya Yojana (DDU-GKY)?
1. It is skill training and placement program of

the Ministry of Skill Development and
Entrepreneurship.

2. The target group for DDU-GKY are poor rural
youth in the age group 15-35.

3. The upper age limit for women beneficiaries,
Particularly Vulnerable Tribal Groups,
Persons with Disabilities, and Transgender
etc. shall be 45 years.

Code:
[a] 2 only [b] 3 only
[c] 1  only [d] 2 and 3 only

Sol. [C]
 Ministry: Ministry of Rural Development

(MoRD).
 The target group for DDU-GKY are poor rural

youth in the age group 15-35.
 The upper age limit for women candidates,

PVTGs, PwDs, and Transgender etc. shall be
45 years.

[c]
[d]

Sol. [C]




 18
91.

1.

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [B]



 40 79 300
80

500


(i)
(ii)

92. (DDU-
GKY)
1.

2. 15 35

3.

45
[a] 2 [b] 3
[c] 1 [d] 2 3

Sol. [C]

15 35

45
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 At the national level, 50% of the funds would
be earmarked for SCs and STs.

93. One Nation One Ration Card scheme is related
to which ministry?
[a] Ministry of Finance
[b] Ministry of commerce and industry
[c] The Ministry of Consumer Affairs, Food and

Public Distribution
[d] Ministry of Home Affairs

Sol. [C]
 Ministry: The Ministry of Consumer Affairs,

Food and Public Distribution
 The ONORC (One Nation One Ration Card)

scheme is being implemented under National
Food Security Act (NFSA).

 Aadhar linkage of ration cards of migrant
workers is mandatory for availing benefits in
other states.

94. The correct statement related to Pradhan Mantri
Vaya Vandana Yojana (PMVVY) is-
[a] Pension Scheme exclusively for the senior

citizens aged 60 years and above.
[b] Pension Scheme exclusively for the senior

citizens aged 58 years and above.
[c] Pension Scheme exclusively for the senior

citizens aged 65 years and above.
[d] Pension Scheme exclusively for the senior

citizens aged 55 years and above.
Sol. [A]

 Ministry : Ministry of Finance
 Pension Scheme exclusively for the senior

citizens aged 60 years and above.
95. Find incorrect statement related to Pradhan

Mantri Mudra Yojana-
(i) The scheme facilitates micro credit/Loan up

to Rs. 50 lakh.
(ii) The benefits under the scheme has been

classified under four categories & Tarun
category provid loan from Rs. 25,00,001 to Rs.
50,00,000/-

Code:
[a] Only (ii) [b] Only (i)
[c] Both (i) and (ii) [d] Neither (i) nor (ii)

Sol. [C]
* Pradhan Mantri Mudra Yojana (PMMY) is a

flagship scheme of Government of India. The
scheme facilitates micro credit/Loan up to Rs.
10 lakh.

* Ministry : Ministry of Finance
* The benefits under the scheme has been

classified under three categories as ‘SHISHU’,
‘KISHOR’ and ‘TARUN’.

* Shishu: Covering loans up to Rs. 50,000/-
* Kishor: Covering loans from Rs. 50,001 to Rs.

5,00,000/-

50

93.

[a]
[b]
[c]
[d]

Sol. [C]

94.

[a] 60

[b] 58

[c] 65

[d] 55

Sol. [A]

60

95.
(i) 50

(ii)
25 00 001 50 00 000

[a] (ii) [b] (i)
[c] (i) (ii) [d] (i) (ii)

Sol. [C]
*

10

*
*

50 000
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* Tarun: Covering loans from Rs. 5,00,001 to Rs.
10,00,000/-

96. Find the correct statements related to the Sukanya
Samriddhi Yojana (SSY)
1. The Minimum Investment is 250 per annum

in this
2. Its Maturity Period is 21 years.
3. It is Implemented Ministry of Finance.
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] All of the above

Sol. [D]
 Ministry : Ministry of Finance.
 The Minimum Investment is 250 per annum
 The Maximum Investment is 1,50,000 per

annum.
 The Maturity Period is 21 years.

97. Find the correct statements related to “Mission
Shakti”.
1. It is related with Ministry of Women & Child

Development
2. Its objective is strengthening interventions for

women safety, security and empowerment.
[a] 2 only [b] 1 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
 Ministry : Ministry of Women & Child

Development
 Objective : To  strengthening interventions for

women safety, security and empowerment
 Mission Shakti’ has two sub-schemes -

 ’Sambal’ and ‘Samarthya’
 Sambal sub- scheme : One Stop Centre (OSC),

Women Helpline (WHL), Beti Bachao Beti
Padhao (BBBP) etc. have been included.

 Samarthya sub-scheme : Ujjwala, Swadhar
Greh and Working Women Hostel have been
included 

98. Atal Pension Yojana is related to which Ministry.
[a] Ministry of Finance
[b] Ministry of Labour & Employment
[c] Ministry of Social Justice and Empowerment
[d] Ministry of Skill Development &

 Entrepreneurship
Sol. [A]

 Ministry : Ministry of Finance
 It focussed on the all citizens in the

unorganised sector.
 Age of joining APY is 18 years to 40 years.

99. The full form of PM-DevINE scheme is –
[a] Prime Minister’s Development Initiative for

North Eastern Region.
[b] Prime Minister’s Development Initiative for

Engineering goods.
[c] Prime Minister’s Development Initiative for

clean Energy.
[d] Prime Minister’s Development scheme for

50 001 5 00 000

5 00 001 10 00 000

96.

1. 250 
2. 21
3.
[a] 1 2 [b] 2 3
[c] 1 3 [d]

Sol. [D]

250
1 50 000
21

97.
1.
2.

[a] 2 [b] 1
[c] 1 2 [d] 1 2

Sol. [C]






 (OSC)
(WHL) (BBBP)



98.
[a]
[b]
[c]
[d]

Sol. [A]

18 40
99. PM-DevINE

[a]
[b]
[c]
[d]
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Indigenous people in North Eastern Region.
Sol. [A]

PM-DevINE scheme :
 Prime Minister’s Development Initiative for

North Eastern Region
 This scheme is implemented by the Ministry

of Development of North Eastern Region
(MDoNER).

 It is is a Central Sector Scheme.
100. Recently the MISHTI scheme  in news, the

objective of this scheme is -
[a] National Programme for Public Distribution

System.
[b] Pension scheme for retail traders and self-

employed persons.
[c] Assistance to the Hilly  States to build well-

endowed resources.
[d] To comprehensively explore the possible area

for the development of mangroves
Sol. [D]

 Ministry : Ministry of Enviornment , Forest
and Climate Change

 Objective : MISHTI envisage to
comprehensively explore the possible area for
the development of mangroves

 Mangrove Initiative for Shoreline Habitats
and Tangible Incomes (MISHTI) scheme

101. The base of a triangular field is three times its
height. If the total cost of plowing at Rs 24.68 per
Hectare is Rs 333.18, then find its base and height.

[a] 800, 450 [b] 900, 300

[c] 1050, 450 [d] 1200, 300
Sol. [B]

Area of field = 
Rate

   
 

Total Cost 333.18
Hectare 

24.68

= 13.5 Hectare
= (13.5×10000) m2 = 135000 m2

Let height = x meter and base = 3x meter

Then, 
2


1
3x× x = 135000





2x = 90000

x = 300

base = 900 m and height = 300 m
102. If a wire of length 440 m is molded in the form of

a circle and is alternately bent into a square, find
the ratio of the area of the circle and square.

[a] 7 : 5 [b] 11 : 14

[c] 14 : 11 [d] 5 : 7
Sol. [C]

Sol. [A]





100.

[a]
[b]

[c]

[d]

Sol. [D]






101.
24.68 

333.18 

[a] 800, 450 [b] 900, 300
[c] 1050, 450 [d] 1200, 300

Sol. [B]

= 
   
 

333.18

24.68

    = 13.5 
= (13.5×10000) 2 = 135000 2

= x = 3x 

2


1
3x× x = 135000





2x = 90000

x = 300
= 900 = 300 

102. 440 

[a] 7 : 5 [b] 11 : 14
[c] 14 : 11 [d] 5 : 7

Sol. [C]
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r a 

 
 
 
 

440 ×7
2 r = 440 r = = 70 

2 × 22

4a 
 
 
 

440
= 440 a = = 110 

4

 = 
2r   

 
2 222

a = 70 × 70 110)
7

: : (

               = 15400 : 12100 = 14 : 11
103.

200 400 
260 

[a] 48000 [b] 52000
[c] 72000 [d] 6000

Sol. [C]
ABCD 

AB = EF = 200 
DE = FC = 100 
AD = BC = 260 

A B 

CF E D 

200 m 

400 m 

1

2
 × 

ΔADE

  

  

2 2 2 2AE = AD DE 260 100

67600 - 10000 57600 240

= 
1

AE ×(AB + DC)
2

 = 
1

240 ×(200 + 400)
2

= 
1

240 × 600 = 240× 300 = 72000
2

2

Let the radius of the circle be r meter and the side of
the square be a metre.

Then,  
 
 
 

440 ×7
2 r = 440 r = = 70 

2 × 22

And 4a 
 
 
 

440
= 440 a = = 110 

4

Required ratio =
2r   

 
2 222

a = 70 ×70 110)
7

: : (

                     = 15400 : 12100 = 14 : 11
103. A field is in the shape of a trapezium whose par-

allel sides are 200 m and 400 m long, while the
other two sides are 260 m long. What is the area
(in m2) of the field?
[a] 48000 [b] 52000
[c] 72000 [d] 6000

Sol. [C]
Let ABCD be a region in the shape of a trapezium.
We have,
AB = EF = 200 m
DE = FC = 100 m
AD = BC = 260 m

A B 

CF E D 

200 m 

400 m 

We know that the area of the trapezium

1

2
sum of parallel sides × height

by the Pythagorean theorem in ΔADE

  

  

2 2 2 2AE = AD DE 260 100

67600 - 10000 57600 240

Now the area of the field = 
1

AE ×(AB + DC)
2

= 
1

240 ×(200 + 400)
2

= 
1

240 × 600 = 240× 300 = 72000
2

m2
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104.
AC = 150 AH = 120 
AG = 80 AF = 50 
EF = 30 GB = 50 
HD = 20 

[a] 6500 2 [b] 6550 2

[c] 6600 2 [d] 6650 2

Sol. [B]

= AFE( ) + AGB( )  

+ BGC( ) + DHC( )

+ ( EFH( )


          
     

1 1 1
= × AF × EF × AG × BG × CG × BG

2 2 2

            
       
   

1 1
× DH ×CH ×(DH + EF ×HF

2 2


          
     

1 1 1
= × 50 × 30 ×80 × 50 ×70 × 50

2 2 2

                 )
       
   

1 1
× 20 × 30 ×(20 + 30 ×70

2 2

CG = (AC AG) = (150 80) = 70 C H
= (AC AH) = (150 120) = 30 
= (750 + 2000 + 1750 + 300 + 1750) 2

= 6550 2

105.

[a] 10 [b] 12 
[c] 15 [d] 18 

Sol. [C]
=  1

= 2 (l + b), = (l × b)
2 (l + b) = (l × b) 1

104. The perimeter of the region shown in the given
figure is-
AC = 150 m, AH = 120 m,
AG = 80 m, AF = 50 m,
EF = 30 m, GB = 50 m,
HD = 20 m

The area of this field is-
[a] 6500 Meter2 [b] 6550 Meter2

[c] 6600 Meter2 [d] 6650 Meter2

Sol. [B]

Area of field = Area of AFE( )+ Area of AGB( )+

Area of BGC( ) + Area of DHC( )  (Area of tra-

pezium EFH( )


          
     

1 1 1
= × AF × EF × AG × BG × CG × BG

2 2 2

            
       
   

1 1
× DH ×CH ×(DH + EF ×HF

2 2


          
     

1 1 1
= × 50 × 30 × 80 × 50 × 70 × 50

2 2 2

                 )
       
   

1 1
× 20 × 30 ×(20 + 30 × 70

2 2

CG = (AC AG) = (150 80) Meter = 70 Meter
CH = (AC AH) = (150 120) Meter = 30 Meter
= (750 + 2000 + 1750 + 300 + 1750) Meter2

= 6550 Meter2

105. If the length and breadth of a rectangle are integers
and the number of square units of its area is one
less than the number of linear units of its
perimeter, then the area of the rectangle is equal
to?
[a] 10 Units [b] 12 Units
[c] 15 Units [d] 18 Units

Sol. [C]
According to Question,
Perimeter = Area - 1
Perimeter = 2 (l + b), Area = (l × b)
So 2(1 + b) = (1 × b) – 1
According to the options, the perimeter will be an
even number.
So reducing by one the area must be an odd num-
ber.
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106.  

[a]
[b]
[c]
[d]

Sol. [D]

4 12 R 8 22 R

1 2R  4 4R 

=  2(4 × 2 ) = 16

=  2(4 × 4 ) = 64

107.

3 : 3 : 4 : 4 

[a] 14% [b] 39%
[c] 42% [d] 47%

Sol. [B]

  0ABC = ADC = 90
AB = AD = 3x BC = CD = 4x

2 2AC = AB BC = 5+ x
= 2 × (ABC)

21
= 2 × × BC ×AB = 3x× 4x = 12x

2

=     2 222 5x 5x 275
r x

7 2 2 14

= 
   
 

2 2 2275 107
x 12x x

14 14

= %
 

 
 

2

2

107x 14
100 39%

14 275x
× ×

A 

D 

C 

B 

106. If the circumference of a circle increases from 

to , then what happens to its area?
[a] That's half
[b] It doubles
[c] It triples
[d] It quadruples

Sol. [D]

4 12 R and 8 22 R

1 2R  and 4 4R 

core area =  2(4 × 2 ) = 16

Increased area =  2(4 × 4 ) = 64

Thus, the area becomes quadruple.
107. A kite shaped quadrilateral of largest possible

area is cut out from a circular sheet of paper. If
the lengths of the sides of the kite are in the ratio
3 : 3 : 4 : 4, then what percentage of the circular
sheet is wasted?
[a] 14% [b] 39%
[c] 42% [d] 47%

Sol. [B]
The longer diagonal of the kite is the diameter of
the circle.

Also,   0ABC = ADC = 90  (angle of the semi-
circle)
Let AB = AD = 3x  and BC = CD = 4x

Then, 2 2AC = AB BC = 5+ x
Area of kite = 2 × area (ABC)

21
= 2 × × BC ×AB = 3x× 4x = 12x

2

Area of circle =    2 222 5x 5x 275
r x

7 2 2 14

Wasted area =
   
 

2 2 2275 107
x 12x x

14 14

Required percentage = %
 

 
 

2

2

107x 14
100 39%

14 275x
× ×

A 

D 

C 

B 
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108.
4 

45 

[a] 6 [b] 9 

[c] 11 [d] 13 
Sol. [B]

x = (x+4)

x(x+4) = 45 x2 + 4x  45 = 0

 x2 + 9x  5x (x  9) = 0

 x(x + 9) 5 (x  9)  = 0

 (x + 9) (x  5) = 0  x = 5

= (5 + 4) = 9 

109. 210 
5 

2 

[a] 1100 [b] 1050
[c] 1075 [d] 1010

Sol. [C]

= 210 

(r) = 105 

5 

= 110 = R

=  (R2  r2)

=  (1102 1052)

=  (110 + 105) (110 105)

=  (215) × 5 = 1075 m2

110. 15 10 8 
2 2 × 1 2

1.5 × 1 
25 

[a] 9825 [b] 9500

[c] 11025 [d] 31075
Sol. [A]

= 2 × 8 (15 + 10)

= 400m2

1 = l × b = 2 × 1 = 2m2

1 = l × b = 1.5 × 1 = 1.5 m2

= 3m2

= 400 4 3 = 393 m2

4 = 393 × 25 = 9825 

108. A carpenter is designing a table. The table will
be in the form of a rectangle whose length will be
4 feet more than its width. If the carpenter wants
the area of the table to be 45 square feet, how long
should the table be?

[a] 6 ft. [b] 9 ft.

[c] 11 ft. [d] 13 ft.
Sol. [B]

Let the width of the table be x feet. Then the length
of the table = (g4) feet

x(x+4) = 45 x2 + 4x  45 = 0

 x2 + 9x  5x (x  9) = 0

 x(x + 9) 5 (x  9)  = 0

 (x + 9) (x  5) = 0

 x = 5

Therefore, length of the table = (5 x 4) feet = 9 feet
109. A circular park whose diameter is 210 m has a path 5

m wide all around it (outside). What is the area (in
m2) of the path?

[a] 1100 [b] 1050
[c] 1075 [d] 1010

Sol. [C]
Given that the diameter of the circular park = 210 m
Radius of circular park (r) = 105 m
It is given that there is a path 5 m wide around the
circle.
Radius of circular park including outer path
Path = 110 m = R
Now area of path = (R2 - r2)
=  (1102 1052)

=  (110 + 105) (110 105)

=  (215) × 5 = 1075 m2

110. The dimensions of a room are 15 m, 10 m and 8 m, it
has 2 doors each of size 2 m × 1 m and 2 windows
each of size 1.5 m × 1 m. If the rate of painting the
walls is Rs 25 per square metre, then what is the total
cost of painting the walls?

[a] 9825 [b] 9500

[c] 11025 [d] 31075
Sol. [A]

Area of the room = 2 × 8 (15 × 10)
(walls + doors + windows) = 400m2

Area of 1 door = l × b = 2 × 1 = 2m2

1 Area of window = l × b = 1.5 × 1 = 1.5 m2

Area of total windows = 3m2

Area of walls only = 400 - 4 - 3 = 393 m2

Cost of painting 4 walls = 393 × 25 = Rs 9825
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111. Mr. X is standing facing east. They take a left turn
and walk 5 km to reach point A. Then they take a
left turn and walk 4 km to reach point B. Then
they take a right turn and walk 3 km to reach
point C. Then they take a right turn and walk 10
km to reach point D.
Which direction is Mr. X facing now at point D?
[a] North [b] South
[c] West [d] East

Sol. [D]

C 

5 km 

10 km 

3 km 

4 km 

D 

B A 

112. Neena starts cycling in the morning in the oppo-
site direction to the sunrise. Then she takes a left
turn and after covering a distance of 1 km again
takes a left turn. Which direction is she facing
now?
[a] South [b] North
[c] West [d] East

Sol. [D]

V 

V 

V 

1 km 

113. A is to the south east of C, B is to the east of C and
to the north east of A. If D is north of A and north
west of B, then what is the direction of C with
respect to D?
[a] North-East [b] South-West
[c] North-West [d] South-East

Sol. [B]

D 

A 

C B 

114. I leave my house and go straight for 2 km. Then I
turn to my right and walk 1 km. I again turn to my
right and then walk 1 km. If I am in the north-
west direction from my house, in which direction
did I go initially?
[a] North-West [b] South-East
[c] West [d] East

111. X 
5 km A 

4km B 
3 km C 

10km D 
D X 

[a] [b]
[c] [d]

Sol. [D]

C 

5 km 

10 km 

3 km 

4 km 

D 

B A 

112.
1 km 

[a] [b]
[c] [d]

Sol. [D]

V 

V 

V 

1 km 

113. A, C B, C A 
D, A B 

D C 
[a] [b]
[c] [d]

Sol. [B]

D 

A 

C B 

114. 2 
1 

1 

[a] [b]
[c] [d]
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Sol. [C]

115.

[a] [b]
[c] [d]

Sol. [D]

116. 10 

5 10
10

[a] 10 [b] 15
[c] 25 [d] 35

Sol. [B]

117. B 
3 4

4 
3 

[a] 8 6 [b] 6 4 
[c] 4.5 5 [d] 5 5 

Sol. [D]

Sol. [C]

115. Manish is standing in the center of a square field.
He starts walking diagonally in the north-east
direction. Then he takes a right turn and reaches
the very end of the field. Now he takes a right
turn and starts walking. Midway, he again takes
a right turn and starts walking. Half way, he turns
to his left and reaches a new end point. In which
direction is Manish now?
[a] North [b] South
[c] North-West [d] South-West

Sol. [D]

116. One day Ganesha leaves his house and drives 10
km in the south direction, then turns to the right
and travels 5 km, then turns to the right and trav-
els 10 km and finally turns to the left and covers a
distance of 10 km. How many km distance will
Ganesh have to cover to reach his home directly?
[a] 10 [b] 15
[c] 25 [d] 35

Sol. [B]

117. Raj and Roy are standing at point B. Both start
walking in opposite directions. Raj walked 3 km
and Roy walked 4 km. Then, Raj took a right turn
and walked 4 km and Roy took a left turn and
walked 3 km. How far are both of them from the
starting point?
[a] 8 Km. 6 Km. [b] 6 Km. 4 Km.
[c] 4.5 Km. 5 Km. [d] 5 Km. 5 Km.

Sol. [D]
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118. 9 
8 

3 

[a] 12 
[b] 10 
[c] 14 
[d] 8 

Sol. [B]

119. P 30
10
30

30 P 

[a] P [b] 20 
[c] 10 [d] 20 

Sol. [D]

 

120.
8 
3 

2 
1 

1 
4 

RAJ ROY 
Starting point  

118. Lalit walks 9 km towards East, then takes a left
turn and walks 8 km. He again takes a left turn
and walks 3 km. How far and in which direction
is he standing from his starting point now?
[a] 12 km, North West
[b] 10 km, North East
[c] 14 Km, South East
[d] 8 km, south west

Sol. [B]

119. From point P, Akshay starts walking towards East.
After walking 30 metres, he turns to his right and
walks 10 metres. He then turns to his right and
walks 30 metres. He again turns to his right and
walks 30 metres. How far and in which direction
is he from point C?
[a] At point P itself [b] 20 m, west.
[c] 10 m, north [d] 20 m, north

Sol. [D]

 

120. A boy leaves the house in the morning and walks
8 km straight in the direction of the sun. Then, he
takes a right turn and walks for 3 km. Then he
again takes a right turn and walks 2 km. and then
takes a left turn and walks 1 km. Then he takes a
right turn and travels a distance of 1 km. and then
takes a right turn & travels a distance of 4 km.
How far is he now from his starting position?
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[a] 5 [b] 6 
[c] 2.5 [d] 4 

Sol. [A]

 

121.
(RSDCL)

[a]
[b]
[c] 1B
[d] II

Sol. [C]
1. (RSDCL)

(RRECL)

(i) I II-RRECL RSDCL
(ii) III  IL&FS
(iii) IV 
(iv)
(v) 1B 

(vi)
(RSDCL)

(vii)
(RSDCL)

122. (RRECL)

1. RRECL 2002 
2. RRECL 2022 

3. (REDA)
(RSPCL)

4.

[a] 2 3 [b] 1 3
[c] 4 [d] 1,2 3

Sol. [D]
RRECL 2002 

(REDA)
(RSPCL)

[a] 5 Km [b] 6 Km.
[c] 2.5 Km [d] 4 Km

Sol. [A]

121. Which of the following solar park is not being
developed by  Rajasthan Solar Park Develop-
ment Company (RSDCL)?
[a] Nokh, Jaisalmer [b] Pugal, Bikaner
[c] Fatehgarh Phase-1B[d] Bhadla Phase-II

Sol. [C]
1. Rajasthan Solar Park Development Company

(RSDCL) is a subsidiary of Rajasthan Renewable
Energy Corporation Limited (RRECL).
The following solar parks are being developed
in the state-

(i) Bhadla Solar Park Phase I and II-RRECL and
RSDCL

(ii) Bhadla Solar Park Phase III - Saurya Urja  Company
and IL&FS

(iii) Bhadla Solar Park Phase IV- Adani Group
(iv) Phalodi Pokaran Solar Park - Essel Saurya Ur j a

Company
(v) Fatehgarh Phase 1B - M/s Adani Renewable

Energy Park Rajasthan Limited
(vi) Nokh, Jaisalmer - Rajasthan Solar Park

Development Company (RSDCL)
(vii) Pugal, Bikaner - Rajasthan Solar Park

Development Company (RSDCL)
122. In the context of Rajasthan renewable  Energy

Corporation Limited (RRECL) choose the correct
statement-
1. RRECL was established in the year 2002.
2. RRECL has been awarded the National Energy

Conservation Award for the year 2022.
3. It has been established by merging Rajasthan

Energy Development Agency (REDA) and
Rajasthan State Power Corporation Limited
(RSPCL)

4. It is the nodal agency of the Government of In-
dia for energy production from conventional
energy sources in the state.

[a] 2 and 3 only [b] 1 and 3 only
[c] 4  only [d]1,2 and 3 only

Sol. [D]
RRECL has been established in the year 2002 by
merging Rajasthan Energy Development Agency
(REDA) and Rajasthan State Power Corporation
Limited (RSPCL)



Page No. {40}

123. 'SKAY RAJASTHAN' 
[a] [b]
[c] [d]

Sol. [C]

www.skayrajasthan.org.in  -

/

www.skayrajasthan.org.in
124. 30  2022,  

(A) 4104 MW (B)  23487 MW
(C)  9450 MW (D) 3113 MW
Code :
[a] (D) [b] (A)
[c] (B) [d] (C)

Sol. [C]
30  2022,  
23487.46 MW 

125. 2022 
[a] 2,69,028 Km. [b] 2,78,813 Km.
[c] 1,86,762 Km. [d] 2,58,713 Km.

Sol. [b]
1949 13,553 
2022 2,78,813.23 

126.
[a] 1 2021 [b] 1 2022
[c] 31 2019 [d] 1 2023

Sol. [B]
31 2022

1 2022

EV 

2019 

It is the nodal agency of the Ministry of New and
Renewable Energy, Government of India for the
production of non-conventional energy sources in
the state.

123. 'SKAY RAJASTHAN' scheme is related to-
[a] Biomass Energy [b] Wind Energy
[c] Solar energy [d] Hybrid energy

Sol. [C]
Saur Krishi Aajivika Yojana

(www.skayrajasthan.org.in)-  Under
P.M.KUSUM Scheme  Component-C (Feeder
Level Solarization) Rajasthan DISCOM has
developed an online portal
(www.skayrajasthan.org.in) to facilitate a
common platform for collaboration of farmers,
landowners and developers and arranging
required land for setting up solar power plants.

124. The total installed power capacity in the state till
30 November 2022 is-
(A) 4104 MW (B) 23487 MW
(C) 9450 MW (D) 3113 MW
Code :
[a] (D) [b] (A)
[c] (B) [d] (C)

Sol. [C]
Total installed power of the State as on 30
November 2022  is 23487.46 MW.
Largest contribution - Thermal energy

125. Till March 2022, the total length of roads in
Rajasthan was-
[a] 2,69,028Km. [b] 2,78,813Km.
[c] 1,86,762 Km. [d] 2,58,713 Km.

Sol. [b] In the year 1949, the length of roads was 13,553
km, which has increased to 2,78,813.23 km by
March 2022.

126. Rajasthan Electrical Vehicle Policy has became
effective from?
[a] 1 July 2021 [b] 1 September 2022
[c] 31 August 2019 [d] 1 April 2023

Sol. [B]
Issued 31 August 2022
The Rajasthan Electrical Vehicle Policy has come
into effect from September 1, 2022, which will
remain in effect for the next five years.

Objective-
- Promoting adoption of EV in both personal

mobility and public transport.
- Enabling creation of a robust network of EV

charging stations and battery swapping
stations that cater to all types of EVs with a
focus on clean energy sources.

- To promote R&D and skill development in the
electric mobility space of the state.

- Promotion of manufacturing of electric vehicles
and batteries in the state by giving appropriate
incentives under RIPS-2019.
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127.

1.
   2
2. NHAI

3. ADB
2

[a] 1 [b] 2 3
[c] 3 [d] 1 3

Sol. [D]
ADB

2

2
128. 2022 

[a] 11 [b] 16
[c] 12 [d] 13

Sol. [D]
120.45 MW

13 2010
129.

(MW)
[a] 4,442 [b] 1690
[c] 1,27,750 [d] 13513

Sol. [C]

(NIWE)
120 

1,27,750 
2022 - 44421.145MW

130.

[a] 1000 [b] 10,000 
[c] 12,000 [d] 2000 

Sol. [C]

17 2021

1000 
12000 

131. 2023 

[a]

127. Identify the mismatched pair-
Program Institution

1. Rajasthan State Highway - World Bank
Investment Program-2

2. Sangaria-Sanchaur- NHAI
Santhalpur Greenfield
Expressway

3. Rajasthan State Highway - ADB
Development Program-2

Code:
[a] Only 1 [b] Only 2 and 3
[c] 3 only [d] 1 and 3 only

Sol. [D]
Rajasthan State Highway -ADB
Investment Program-2
Rajasthan State Highways - World Bank
Development Program-2

128. How many biomass plants have been set up in
the state till December 2022?
[a] 11 [b] 16
[c] 12 [d] 13

Sol. [D]
Total Biomass Capacity - 120.45MW
13 biomass plants
Biomass Policy- 2010

129. The estimated potential of wind energy in the
state is how much MW?
[a] 4,442 [b] 1690
[c] 1,27,750 [d] 13513

Sol. [C]
According to the study conducted by the National
Institute of Wind Energy (NIWE) under the
Ministry of New and Renewable Energy,
Government of India, the estimated potential of
wind energy in the state at a height of 120 meters
is about 1,27,750 MW.
Commissioned Capacity till December 2022 -
44421.145MW

130. Under the Flagship Scheme Mukhyamantri
Kisan Mitra Urja Yojana, the maximum amount
of subsidy given annually to agricultural consum-
ers of metered and flat rate category is?
[a] Up to Rs.1000 [b] Up to Rs.10,000
[c] Up to Rs.12,000 [d] Up to Rs.2,000

Sol. [C]
Mukhyamantri Kisan Mitra Urja Yojana-
Launch-July 17, 2021
By the Department of Energy- 1000 rupees per
month to the general category (Flat and metered )
rural agriculture consumer and up to a maximum
amount of 12000 rupees per year.

131. With reference to the International Intellectual
Property Index-2023, which one of the following
statements is incorrect?
[a] It has been published by the Global Intellec-

tual Property Network.



Page No. {42}

[b]

[c] 55 42 
[d] 50 

Sol. [A]
• 11

• US 

• 95.48 42 
38.84 

• 50 

132.

[a] [b]
[c] [d]

Sol. [D]

133.
[a] 24 2023 30 2023
[b] 30 2023 30 2023
[c] 24 2023 25 2023
[d] 30 2023 30 2023

Sol. [A]
24 2023 30 

2023 
134.

1.
2. 2020 

3.

[a] 1 [b] 1 2
[c] 2 3 [d]

Sol. [A]
• 2020 

• 3-8 

•

• 13 

[b] America has got the first and Venezuela has
got the last place.

[c] India got 42nd rank out of 55 countries.
[d] A total of 50 unique indicators like Patent, Copy-

right, Trademark are used in this.
Sol. [A]

• The 11th edition of the International Intellec-
tual Property Index has been published.

• Published by - Global Innovation Policy Cen-
ter of the US Chamber of Commerce

• USA ranked first with 95.48 points India
ranked 42nd with 38.84 points Venezuela
ranked last.

• For this, 50 unique indicators such as patents,
trademarks, copyrights, etc. are used.

132. Recently which country has passed the law for
menstrual leave-
[a] New Zealand [b] Australia
[c] Italy [d] Spain

Sol. [D]
Spain has passed a law for menstrual leave, the
first country in the world to bring such  law.

133. When was the "Mehangai Rahat Camp" orga-
nized?
[a] 24 April 2023 to 30 June 2023
[b] 30 April 2023 to 30 June 2023
[c] 24 April 2023 to 25 June 2023
[d] 30 April 2023 to 30 May 2023

Sol. [A]
Mehangai Rahat Camp were organized from 24
April 2023 to 30 June 2023.

134. With reference to the "Jadui Pitara" consider the
following statements-
1. It is an initiative of the Ministry of Education.
2. It has been started under the National Educa-

tion Policy-2020 for all school students.
3. It is available in all Indian languages.
Choose the correct statement from the above-
[a] 1 only [b] 1 and 2 only
[c] Only 2 and 3 [d] All of the above

Sol. [A]
• The study material “Jadui Pitara” was

launched under the National Education Policy-
2020. This is an initiative of the Ministry of
Education.

• It is a game based learning material for chil-
dren in the age group of 3-8 years.

• Which includes physical development, social
emotional and moral development, cognitive
development, language and literacy develop-
ment, aesthetic and cultural development.

• It is available in 13 languages.
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135.
1. 22 
2.
3.
4.

[a] 2 3 [b] 2 4
[c] 1 2 [d] 1, 3 4

Sol. [C]
• 22 31 

2024 
• 21 2020
• 3 
•
•
•

•
136.

[a]
[b]
[c]
[d]

Sol. [B]

137.

[a] C/2022 E3 (ZTF) [b] Haven L23
[c] 8 Umi b [d] Wolf 1069 b

Sol. [D]
Wolf

1069 b
138. EOS 

1.
2. SSLV 
3.

[a] 1 [b] 2
[c] 1 3 [d]

Sol. [B]
EOS 

PSLV, SSLV  

135. With reference to the Law Commission, consider
the following statements-
1. At present the 22nd Law Commission is func-

tioning.
2. Its chairman is Justice Rituraj Awasthi.
3. Its recommendation is binding on union gov-

ernment .
4. It is constituted as a statutory body.
Choose the correct statement from the above-
[a] 2 and 3 only [b] 2 and 4 only
[c] 1 and 2 only [d] 1, 3 and 4 only

Sol. [C]
• Recently, the tenure of the 22nd Law Commis-

sion has been extended till 31 August 2024.
• Formation - 21 February 2020
• Tenure - 3 years
• It is an executive body.
• Chairman - Justice Retd Rituraj Awasthi
• To make recommendations to the government

on work-legal matters, it includes making rec-
ommendations for repeal of laws, making new
laws and amendments.

• Its recommendation is non binding on govern-
ment .

136. World Energy Outlook is published by-
[a] International Monetary Fund
[b] International Energy Agency
[c] World Bank
 [d] International Atomic Energy Commission

Sol. [B]
The World Energy Outlook is published by the In-
ternational Energy Agency.

137. What is the name given to the earth-like Planet
discovered outside the solar system?
[a] C/2022 E3 (ZTF) [b] Haven L23
[c] 8 Umi b [d] Wolf 1069 b

Sol. [D]
Planet discovered outside the solar system similar to
Earth have been named Wolf 1069 b.

138. Consider the following statements about EOS-
1. It is an earth observation satellite.
2. It can be launched by SSLV only.
3. It is useful in agriculture, forestry and disaster

management.
Choose the incorrect statements from the above-
[a] 1 only [b] 2 only
[c] 1 and 3 only [d] None of the above

Sol. [B]
EOS (Earth Observation Satellite) is an earth ob-
servation satellite which can be launched by PSLV,
SSLV.
It is useful in agriculture, forestry and disaster
management sector.
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139.

[a] [b]
[c] [d]

Sol. [A]

MOU 
140.

[a] [b]
[c] [d]

Sol. [C]

141. I-CET 

[a] [b]
[c] [d]

Sol. [C]
I-CET 

142.
[a] [b]
[c] [d]

Sol. [C]

143.

[a] [b]
[c] [d]

Sol. [D]

144.

1.
2. 2047 
3.

[a] 2 3 [b] 3
[c] 1 3 [d]

Sol. [A]

139. Rajasthan's first science center and
planetarium will be built in?
[a] Kota [b] Bikaner
[c] Jaipur [d] Udaipur

Sol. [A]
Rajasthan's first science center and planetarium
will be constructed in Kota.
For this, an MOU was signed between the Central
Council of Science Museums and the Rajasthan
Ministry of Science and Technology.

140. Where is the country's first plant to make bio gas
from garbage being established-
[a] Indore [b] Jaipur
[c] Pune [d] Mumbai

Sol. [C]
The country's first plant to produce bio gas from
garbage is being set up in Pune.

141. The India-America I-CET initiative is related to
which field?
[a] Culture [b] Economic
[c] Defense [d] Science

Sol.[C]
The I-CET initiative between India and the United
States is related to the defense sector, which in-
cludes dialogue between National Security Advi-
sors and partnership in the field of defense coop-
eration.

142. Which is the mascot of Chambal River Front?
[a] Chinkara [b] Gharial
[c] Croco [d] Cheetah

Sol. [C]
The mascot of the Chambal River Front is Crocco.
Chambal River Front has been developed from the
point of view of tourism. It has been prepared in an
extension of 6 km at a cost of 1200 crores.

143. In which city of Rajasthan Virtual High Court
Bench will be established at-
[a] Jaipur [b] Jodhpur
[c] Kota  [d] Udaipur

Sol. [D]
A virtual bench of the Rajasthan High Court is be-
ing started in Udaipur.

144. With reference to Sickle Cell Anemia, consider
the following statements-
1. It is an infectious disease which is related to

blood.
2. The Government of India has set a target of

eradicating it by 2047.
3. Pilot project will be started in Udaipur and

Jodhpur for its prevention in Rajasthan.
Choose the correct statement from the above-
[a] 2 and 3 only
[b] 3 only
[c] 1 and 3 only
[d] All of the above are correct.

Sol. [A]
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• It is a genetic disease caused by mutation of the
hemoglobin-B gene which is found in the 11th
chromosome.

• In this the red blood cell hardens and takes the
shape of a sickle.

• The Government of India has set a target  for its
eradication by 2047.

• Rajasthan government has started pilot project
for Sickle Cell Anemia in Udaipur and Jodh-
pur.

145. Which city is going to become the country's first
Net Zero Green Town?
[a] Indore [b] Jaipur
[c] Udaipur [d] Pushkar

Sol. [D]
Country's first Net Zero Green Town is going to be
made in Pushkar.
Net zero town refers to a town which has zero car-
bon footprint.

146. How much amount has been approved for the
Gig Workers Welfare and Development Fund?
[a] 100 crore [b] 200 crore
[c] 400 crore [d] 500 crore

Sol. [B]
An amount of 200 crores has been approved for
the Gig Workers Welfare and Development Fund.

147. Match the following pair-
List-I List-II
Festival/Event Venue

A. International BRICS 1. Jodhpur
research conference

B. Rajasthan International 2. Jaipur
Expo

C. Rajasthan International 3. Dholpur
film festival

D. Suposhit Bachpan 4. Kota
Campaign
A B C D A B C D

[a] 4 3 2 1 [b] 1 2 3 4
[c] 4 1 2 3 [d] 4 2 1 3

Sol. [C]
International BRICS Research -  Kota
Conference
Rajasthan International Expo - Jodhpur
Nourished Childhood Campaign - Dholpur
Rajasthan Film Festival - Jaipur

148. Who is the winner of Women's Cricket T-20
World Cup-
[a] Australia [b] India
[c] South Africa [d] England

Sol. [A]
Australia won the title by defeating the host team
(South Africa) in the Women's T-20 World Cup.
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145.

[a] [b]
[c] [d]

Sol. [D]

146.

[a] 100 [b] 200 
[c] 400 [d] 500 

Sol. [B]
200 

147.
I II

A. 1. 

B. 2. 

C. 3. 

D. 4. 

A B C D A B C D
[a] 4 3 2 1 [b] 1 2 3 4
[c] 4 1 2 3 [d] 4 2 1 3

Sol. [C]

148. T-20 
[a] [b]
[c] [d]

Sol. [A]
T-20 
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149. 2023 
[a] [b]
[c] [d]

Sol. [D]
 2023 14 

150.

A. 1.
B. 2.
C. 3.

A B C A B C
[a] 3 2 1 [b] 2 3 1
[c] 2 1 3 [d] 1 2 3

Sol. [B]

149. Where was Aero India-2023 organized-
[a] Delhi [b] Jodhpur
[c] Hyderabad [d] Bangalore

Sol. [D]
The 14th edition of Aero India - 2023 was held in
Bengaluru. Its objective was to showcase India's
capability and potential in the aerospace and de-
fense sector.

150. Match the following pairs-
Exercise/Operation Country
A. Dustlik 1. India-Japan
B. Tarkash 2. India-Uzbekistan
C. Dharma Guardian 3. India-USA

A B C A B C
[a] 3 2 1 [b] 2 3 1
[c] 2 1 3 [d] 1 2 3

Sol. [B]
India-Japan - Dharma-Guardian
India-Uzbekistan - Dastlik
India - America - Tarkash

DATE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
A B B C C C A B D B D B D B A
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
B B D C C C A A C D C C A D A
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
D A C A B A B C C C A A B A A
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
D C A C C C B A A B A B A C A
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
B B A A A A C A D C A A C D D
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
A D B D D B B A C A D B D A C
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
B C C A C D C A A D B C C B C

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
D B B C A D D B C D B D B D A

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
C D C C B B D D C C A D A A C

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
B D B A C C C D A D B C A D B
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